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W :Excuse me, Professor Hill. May I ask you a few questions?

M:Yes, of course. But I'm sorry I have a class at ten. Why don’t you come in my office hours.
That is 4 to 5 p. m. Monday. Thursday and Friday.

HEIESSREBENRAEESEMHERERN, Hit, TR S8R5 S, e T4

FHHERNBENERLAR, (SHIE)

O IIEE SEES BF EEEAL, HEAM K TEHEEE, XX — 4 %E

J3 Him 3 Yot W oy R AT R AR R B I ZRRTAZ Fy B B R, S S R O R R R T

QB EWF B IIE I E S, KU BRARATESMENEL,
1996 4 1 A MK L EREE 8 H
M:Let’s see if the basketball game has started yet.

W :Started? It must be clear who is winning by now.
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W:I'd like to buy a copy of Professor Franklin’s book “On Sea Shells”.
M:T'm sorry,Ms. , that book has been out of print for some time now.
AW B EE out of print FI PR, KB ECHE RS, B4R
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M:Did Henry paint the whole house himself?

W :He had it painted, because he doesn’t like clambing ladders.
%+ 5 : “had it painted” BI“iE I A", & have W BT — .
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M: Look here, darling. The paper says people tend to feel unwell if they sleep less than six hours a

W:That may be true for you,but it certainly isn’t ture for me.
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W If it hadn’t been snowing so hard, I might have been home by 9 o’clock.

M:It’s too bad you didn’t make it. Jane was here and she wanted to see you.
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M:What's the time for departure?
W:5:30. That only leaves us 15 minutes to go through the custorns and check our baggage.
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W :How much time did you have for writing the paper?

M:We were given 3 hours, but [ finished in less than half the time.
) 55 4 2 KB AN 52 L Lo less than half the time (3 hours) & one and a half hour, B 1 /-2
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W: Are you coming with me to the history museum, George?
M:I already have my hands full with this book report.
Q:What does the man mean?

A)He must hand in a report about the museum.

B)He has already visited the museum.

C)He has to read history book.

D)He is too busy to go with her.
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M: I haven’t received the furniture I ordered yet. Maybe I should call to check on it.
W:Don't worry. It takes at least a week to arrive.
Q:What does the women think the man should do?
A)Place another order. B)Call to check on it.
. 3 .



C)Wait patiently. D)Go and find the furniture.
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M:Good morning. This is John Parker speaking. I'm just ringing te confirm my appointment

with Mr. Smith for this afternoon.

W:Yes, Mr. Smith’s expecting you at 3 o’clock.

Q:Why is the man making the phone call?

A)He wants to make an appointment with Mr. Smith.

B)He wants make sure that Mr. Smith will see him.

C)He wants to change the time of the appoinment.

D)He wants the woman to meet him at three o’clock:
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M:Do you know Prafessor Johnson’s brother?

W :I've never met him, but I’ve heard that he is as well-know as Johnson himself.

Q:What do we learn from the woman'’s reply?

A)She has not heard of Prof. Johnson.

B)She has not heard of Prof. Johnson’s brother.

C)She is a good friend of Prof. Johnson'’s.

D) She does not know Prof. Johnson’s brother.
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Brazil has become one of the developing world’s great successes at reducing population growth—
but more by accident than design. While countries such as India have made joint efforts to reduce birth
rates, Brazil has had better result without really trying,says George Martine at Harvard.

Brazil’s population growth rate has dropped from 2. 99% a year between 1951 and 1960 to
1.93% a year between 1981 and 1990, and Brazilian women now have only 2.7 children on average.
Martine says this figure may have fallen still further since 1990, an achievement that makes it the envy
of many other Third World countries. Martine puts it down to,among other things, soap operas (GBA&
RLYIELSER) and instalment (J3H1£13K) plans introduced in the 1970s. Both played an important, al-
though indirect, role in lowering the birth rate. Brazil is one of the world’s biggest producers of soap op-
eras. Global, Brazil’s most popular television network, shows three hours of soaps six nights a week,
while three others show at least one hour a night. Most soaps are based on wealthy characters living the
high life in big cities.

“Although they have never really tried to work in a massage towards the problems of reproduc-
tion, they describe middle and upper class values—not many children, different attitudes towards sex,
women working,” says Martine. “They sent this image to all parts of Brazil and made people conscious
of other patterns of behaviour and other values, which were put into a very attractive package. ”

Meanwhile, the instalment plans tried to encourage the poor to become consumers. “This led to an
enormous change in consumption patterns and consumption was incom patible (AHZER) with unlim-
ited reproduction. ” says Martine.

31. According to the passage,Brazil has cut back its population growth -
[A] by educating its citizens

[B] by careful family panning

LC] by developing TV programmes



[D] by chance
32. According to the passage, many Third World countries
[ A] haven’t attached much importance to birth control
[B] would soon join Brazil in controlling their birth rate
[C! haven't yet found an effective measure to control their population
(D] neglected the role of TV plays in family planning
33. The phrase “puts it down to” (Line 1,Para.3) is closest in meaningto __ .
[A] attributes it to
[B] sums it up as
[C] finds it a reason for
[D] compares it to
34. Soap operas have helped in lowering Brazil's birth rate because
[A] they keep people sitting long hours watching TV
[B] they have gradually changed people’s way of life
[C] people are drawn to their attractive package
[D] they popularize birth control measures
35. What is Martine’s conclusion about Brazil’s population growth?
[A] The increase in birth rate will promote consumption.
[B] The desire for consumption helps to reduce birth rate.
[C] Consumption patterns and reproduction patterns are contradictory.

[D] A country’s production is limited by its population growth.
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Some dpseases are by certain water animals.
A)transplanted B)transformed
C)transported D) tansmitted

ATLLE W, WA TR AR L
Oxt Fial SCH AT & 2 B8 K MR m A% 2
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I didn’t to take a taxi but [ had to as I was late.
A)assume B)suppose
C)mean D)hope
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The soldier was of running away when the enemy attacked.
A)scolded B)charged C)accused D) punished
A EIETIA accuse sb. of doing sth. FEEBEEAR)ERHWEEHEE,
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I suggested he should ___~ himself to his new condition.

A)adapt B)adopt C)regulate D)suit

B — 8 L RBEFEELHHR R,
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The car halfway for no reason.

A)broke off B)broke down C)broke up D)broke out
@MAPEHEREBRRANER,
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I was advised to arrange for insurance I needed medical treatment.
A)nevertheless B)although C)in case D)so that
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-+ the young people get to know the for registration and student advising, ---

A)processes B) procedures C)projects D) provisions
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My point is that the frequent complaint of one generation about the one immediately following it is
inevitable.
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Part | Listening Comprehension (20 minutes)
Section A
Directions: In this section , you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said . Both the conversation and the question will
be spoken only once. After each question there will be a pause. During the pause, you
must read the four choices marked [A),[B],{C] and [ D], and decide which is the best
answer. Then mark the corresponding letter on the Answer Sheet with a single line
through the center .
Example: You will hear:
You will read : [A] At the office. [B] In the waiting room.
[C] At the airport. [D] In a restaurant.
From the conversation we know that the two were talking about some work they had to
finish in the evening. This is most likely to have taken place at the office. Therefore,
[A] “At the office” is the best answer. You should choose (A ] on the Answer Sheet and
mark it with a single line through the center .
Sample Answer [A] [B] [C] [D]
1.[A] They are twins. B] They are classmates.
[C] They are friends. D] They are colleagues.

[
[
2.[A] The man is planning a trip to Austin. [B] The man has not been to Austin before.
CJ] The man doesn’t like Austin. [D] The man has been to Austin before.
[B] Long working hours.
[

D] The fan in the room.

3.[A] The size of the room.

C] The hot weather.

4.[A] The man has changed his destination.

C] The man is flying to New York tomorrow morning.

DJ The man can’t manage to go to New York as planned.

3.
C

A Looking for a timetable. [BJ Buying some furniture.

[

(

[

[

[

[B] The man is returning his ticket.
[

[

[

[C] It is missing. [D] It has been borrowed by someone.
L

]

A] It is difficult to identify. [B] It has been misplaced.
]
]

0.
<11 -



[C] Reserving a table. [D] Window shopping.
7.[A] Cold and windy. [B] Snow will be replaced by strong winds.
[C] It will get better. [D] Rainy and cold.
8.[A] It is no longer available.
[B] It has been reprinted four times.
[C] The store doesn’t have it now,but will have it soon.
[D] The information in the book is out of date.
9.[A] Henry doesn’t like the color. [B] Someone else painted the house.
{ C] There was no ladder in the house. [D] Henry painted the house himself.
10. [A] In a cotton field. [B] At a railway station.
[C] On a fam. [D] On a train.
Section B

Directions: In this section , you will hear 3 short passages. At the end of each passage , you will hear
some questions. Both the passage and the questions will be spoken only once. After you
hear a question , you must choose the best answer from the four choices marked [A],[B],
(C] and [D]. Then mark the corresponding letter on the Answer Sheet with a single
line through the center .
Passage One
Questions 11 to 13 are based on the passage you have just heard.
11.[A] They invited him to a party.
[B] They asked him to make a speech.
[C] They gave a special dinner for him.
(D] They invited his wife to attend the dinner.
12. [A] He was embarrassed. [B] He fclt greatly encouraged.
[C] He felt sad. (D] He was deeply touched.
13.[A] Sam’s wife did not think that the company was fair to Samn.
[B] Sam'’s wife was satisfied with the gold watch.
[C] Sam did not like the gold watch.
[D] The company had some financial problems.
Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14.[A] The number of students they take in is limited.
[B_ They receive little or no support from public taxes.
[C. They are only open to children from rich families.
[D] They have to pay more taxes.
15. [A] Private schools admit more students.
[B] Private schools charge less than religious schools.
[C] Private schools run a variety of programs.
(D] Private schools allow students to enjoy more freedom.
16.[A] The churches. [B] The program designers.
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[C] The local authorities. [D] The state government.
Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17.[A] She was found stealing in a bookstore.
[B] She caught someone in the act of stealing.
[C] She admitted having stolen something.
[D] She said she was wrongly accused of stealing.
18.[A] A book. [B] $ 3,000.
[C] A handbag. [D] A Christmas card.
19. [A] She was questioned by the police.
} She was shut in a small room for 20 minutes.
C] She was insulted by the shopper around her.
D] She was body-searched by the store manager.

(B
[
[
20.[A] They refused to apologize for having followed her through the town.

[B] They regretted having wrongly accused her of stealing.

(C] They still suspected that she was a thief.

[D]

D] They agreed to pay her $3,000 damages.

Part || Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some questions or
unfinished statements. For each of them there are four choices marked A),[B],[C]
and [ D]. You should decide on the best choice and mark the corresponding letter on the
Answer Sheet with a single line through the center .

Questions 21 to 25 are based on the following passage:

Psychologist George Spilich and colleagues at Washington College in Chestertown, Maryland, de-
cided to find out whether, as many smokers say, smoking helps them to “think and concentrate.”
Spilich put young non-smokers, active smokers and smokers deprived (##13F) of cigarettes through a
series of tests.

In the first test,each subject (IEXTH) sat before a computer screen and pressed a key as soon
as he or she recognized a target letter among a grouping of 96. In this simple test, smokers, deprived
smokers and non-smokers performed equally well.

The next test was more complex, requiring all to scan sequences of 20 identical letters and respond
the instant one of the letters transformed into a different one. Non-smokers were faster, but under the
stimulation of nicotine (JE# T ), active smokers were faster than deprived smokers.

In the third test of short-term memory, non-smokers made the fewest errors, but deprived smokers
committed fewer errors than active smokers.

The fourth test required people to read a passage, then answer questions about it. Non-smokers re-
membered 19 percent more of the most important information than active smokers, and deprived smok-
ers bested those who had smoked a cigarette just before testing. Active smokers tended not only to have
poorer memotries but also had trouble separating important information from insignificant details.
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